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TYoaRUBON IWINDINGB 1MUY 1 (232204)
Reading Ability
Directions: Read the passages and answer the questions.
Passage 1

Deceptively simple in design, the Australian boomerang looks more like a toy than a lethal aboriginal
hunting weapon. But this thin, curved piece of hardwood is more than a throwing stick; it is artfully shaped to
exploit the aerodynamic lift on its arms as it whirls through the air toward a distant target.

While boomerangs have been found worldwide, the earliest specimens date back 10,000 years to
Australia, where the best and most elaborate boomerangs are still made. Boomerangs have played an
important role in Australian Aboriginal culture and have commonly appeared in Aboriginal myth and art.

Boomerangs come in two types: the non-returning kind, which either strikes its prey or drops to the
ground, and the returning kind, which circles back to the thrower and is primarily for sport and amusement.
A game of skill, boomerang-throwing has developed into a competitive sport in Australia, and today national
and state championships are held annually.

1. According to the passage, boomerangs are not
a. native to Australia b. simply made or simply designed
c. accurately designed to reach a distant target ~ d. necessarily made of curved hardwood
2. A boomerang can be lethal because it
a. s carried by Aborigines
b. isa very popular Australian sport
c. can be used to kill animals
d. plays an important role in Australian culture
3. According to the passage,
a. boomerang look like aeroplanes
b. boomerang are made only in Australia
c. boomerang were originally valuable art objects
d. The non-returning boomerang can be used for hunting
4. The statement which is not true according to the passage is that
a. every boomerang will finally return to the thrower after being thrown
b. eachtype of boomerang is designed for a specific purpose
c. every boomerang normally rotates in flight before hitting the target
d. each boomerang is shaped so that it can be more effectively carried
5.  The passage informs the reader that
a. the best boomerang was made in Australia ten centuries ago
b. modern scientific know-how cannot be detected in the making of boomerangs

c. Australian Aborigines are the most skilled in throwing boomerangs

e

boomerang-throwing contests are considered a national event



Passage 2
Piranhas live in enormous packs, or shoals. They spend most of their time hunting for food. Rivers are

their primary habitat although, as a result of massive flooding, they may occasionally find their way into lakes.

But it is thought that they are unable to breed outside of rivers. Piranhas have voracious appetites, and they
seek river locations that have plentiful fish suppliers. They are found in any well-stocked river within their natural
habitat.

The piranha hunts with speed and by surprise. The typical way in which the piranha attacks is by
swimming directly into a shoal of fish. The typical way in which the piranha attacks is by swimming directly into
a shoal of fish. The attacked shoal scatters in all directions, and the piranha quickly overpowers individual fish.
Small fish are swallowed whole. Larger preys have chunks ripped out of them, which the piranha swallows
instantly so it can immediately take another bite.

6. Itis common for piranhas to
a. huntin small packs
b. liveinlarge groups
C. breed outside rivers
d. search for food in lakes
7. According to the article, piranhas can be found in lakes when
a. they cannot find enough food in the river
b. the river overflows after a big flood
c. they are unable to breed in rivers
d. there are too many piranhas in the river
8. The word “habitat” (paragraph 1) refers to
a. aliving place
b. ahunting area
c. a habit one develops
d. a strange environment
9. The word “voracious” (paragraph 1) suggests that piranhasare _____
a. bad hunters
b. strong fighters
c. active swimmers
d. greedy eaters
10. Which statement is true about the way piranhas hunt?
a. They hunt only small fish.
b. They wait for individual fish to come very close and attack.
c. They chase individual fish for sport.
d. They attack other fish very fast.



Writing Ability : Sentence Completion

Directions: Choose the best item to complete each sentence correctly.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

The people who had lived in protected forest or mangrove areas before the tsunami struck,

should be allowed to return to their original sites they agreed to protect the natural

resources in their localities.
a. or b. unless
c. but d. provided

the athlete thought he was invulnerable, he was willing to challenge the limits of

his strength without fear of injury
a. If b. Since
c. For this reason d. Whether

a restaurant and two bars, there are also two swimming pools and a sauna.

a. Owingto b. Soasto

c. Inadditionto d. According to

| was losing consciousness . It was one of many times | would return from the brink
of death.

a. after|entered a coma b. when | decided to give up and die
c. when my will to live asserted itself d. also, I lost all control of my bowels
Look at your room! right now, it’s filthy!

a. Cutup yourcraps b. Give up your work

c. Clean up your mess d. Burn up your energy

The judge’s decision is final, . Not to do so would be treason.

a. and we must abide by it b. nor must we agree with it

c. however we are desirous of it d. we must not be superior from it
Hey! Stop being so lazy I' We are counting on you.

a. but be prior to b. and try to listen

c. butangry with me d. stop paying attention

Paul did not understand our language; . He felt very out of place.

a. yet, he understood our customs b. also, he knew all about our customs

c. however, he was ignorant of our customs d. moreover, he was unfamiliar with our customs

We have redesigned the product to make it even easier to operate; ,

the on-screen commands lead the user through every step.
a. incase b. in spite of
c. intime d. in particular

Although the population of Thailand is more than sixty-one million, the growth rate

in Southeast Asia.
a. isthe lowest b. which enlarges

c. generally raises d. spreads considerably



Writing Ability : Error Identification

Directions: Identify the underlined part that makes the sentence incorrect.

21.

22.
23.

24.

25.

26.

27.
28.

29.
30.

Some department stores have been (a) such successful that branches of (b) the stores have been
opened under (c) the same name (d) in more than one large city.

Peter (a) thinks that he (b) had better (c) don’t quit his job until he finds (d) another one.

The flight was scheduled (a) to take off at 2:30 p.m., but (b) due to some mechanical problems,
it (c) was delayed for (d) mostly three hours.
(a) When Mr. Suki, the new representative from Japan, (b) starting his new job in Thailand,

he had (c) difficulty (d) communicating with the employees.

Primitive people used dyes of (a) vegetable origin to color (b) their bodies, (c) believed that
certain colors, (d) notably red, could drive out evil spirits or illness.

Students (a) would have to pay (b) a late fee (c) unless they register before (d) the last day of the

regular registration period.
It is important that everyone (a) have (b) his car (c) check once (d) or twice a year.

People with (a) seriously eye conditions (b) will be treated (c) at a hospital by a doctor (d) who

specializes in the eyes.

The (a) findings of our study were (b) worst than we (c) had expected them (d) to be.

Gardens (a) dedicated (b) to beautiful, fragrant flowers, not food crops or (c) medicine plants,

(d) arose early.




